__,)_Exam Review #1 Goals Numbers & Algebra Name: H {h

1. Which function has a remainder of 3 when divided by

X427

A flx)=x%-6x+11 Fix)=x?~ax+7 b Fixy=x2+6x+5

e __,
.Jer’ -t % 5
{repder o) <215 5

2. When dividing the polynomial?® = 4 — 170 + 142— bef 3.the remalnder caI(ﬁ))q determined
by evaluating?3}What is the value of this remainder?

A, (3 =-27 B. 3 =—6 c. p(3)=0 D. (3=
Ty (8 1B+ H(3)- 5 ) B R T

== Y1 -8 ;iﬁ

3. In the diagram below @+ 5 | g =5 ~I @

Which polynomial identity could the diagram be used to prove?

B. (a+b}a—B)=a’ -5
(a+bP =a’ + 3%+ 3ak* +
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4. The figure shown is a large rectangle composed of smaller rectangles. The difference in
areas of the large rectangle and the white rectangie is equal to the area of the shaded region.

R avs {alash))- (blasb)) =
g,’b | \)k\;ﬂ 1 sorab-ab-47
\ | v 2P b

bvf
o)~ (0h Ho"’)" 2"
(w- (,

Which of the following could bhe prdved as é polynomial identity using the figure?

Xa2+bz=(a+b)2 +b}(a—&}=al—&]
c.la+Bt=a’+2ab+b? D.la— &Y =a* - 2ab + &’

5. Which expression is a common factor of both the numerator and denominator in the
expression below? .
P :* %F’ﬁls {{"#;* lzrq- 37.’?' ﬁl’ﬂra (LI' - N
Jrmal %MP 1202 - 3;«*'.;5 4 r?ar (%-'cp | )

A dg-r B. 4 -4 —q D.4-+
wi-2w) ﬂw&% ) Mw;?’
_ z + Blw= 7 _
6. Which of these expressions is equivalent to wi+aw-10) (W - ?‘

5 =] 1 i
1 1+ 5~ B+
@W'*S | B w+5 C. w+5 / D. w+5

WS 5w w5 w1 Swtal
Wis  fS i | are | WS wrs w? wrs

2 b2, gurac-

7. Which rational expression is equivalent to¥+? »-10 L w +
R
4 4v-2 4 WS
A -1 B. -1 C, r+%p-10

rtiﬂ 4(n e
CBH?YB'{D) (?Mribflﬁ) !
An-70 + }3 +19
Hip~ 7

" Exam Review #1 Goals N & A Page 2/6



| - | -1
x2S+ {(x /1‘/3("" i) { Q’{K !
) S (- }(:_s} {“’HI/I,{ T )

8. Which expression is equivalent tols.Jit +ix+2

Hx- 1) 2 -1 | Hx+1) Ax+1)
A x-2 +2 _ C. x-2 D. x+2

9 Mai Ly’s bag contains red and blue beads. The number of red beads in the bag (r) |@;§‘\

3 the number of blue beads in the bag (b). There arg @t most 400 beads in the bag. Which
system of inequalities could be used to determine thé nimber of red beads in Mai Ly’s bag?

Oﬁa / |
A/ 3 7
&= 400 RZ’ /6,%

rz0 ' g +r < ubo
b2Q

B ré%b

+ 52 400
r=0

Bzl

c rag(r+bj
r+5%300
>0
520

3

D.?‘ﬁg(?"i'b}
riH2A00
FeQ

Bz
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10. A bakery sells pies and cakes.

» The bakery expects to sell at feast 50 ;;Ees and 35 cakes per day.
The bakery is not capable of making more than 125 pies and 75 cakes each day.
A total of at least 100 desserts must be delivered.each day to sat|sfy delivery

contracts. ,;_‘3 > 00

Cakas

150

oY

% % % %%, "f‘o""o{'*bﬁa‘é%h
Pies

140k

130

120

150}

10

233

e

o <o o

Ples

X

@0

\'*Q
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Cakes

saggues

v
% <196

Which graph shows the region containing the number of pies, x, and thé humber of
cakes, y, that should be made each day?
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. - =X

- 11. Which of the following equations is equivalent t I-2x {x} 5~

A_.\E—Jﬂzx. B 3-2x=.%x C.«E—x=aff "'235:3?2

. %= (512 -31%2-3)
12. What is the@\;{m of z? & = A% - 14477 -2dve + b4

)
e

B.9

13. Two functions are shown below.

FG =2 — 15% + 20
gbry = —dx? + 16x— 12

Which ordered pair best approximates a point of intersection for the graphs of the two
functions?

A (142,-8.12) @.74, ~8.12) . (L7130 D. (3.74, 2.68)

(14 7.1) o (51,-1.1)

F[sz-*g[x} .. nf()c]=2x+sand gx)=x*

14. Which statement is true about the equation give
- —y &
t has two solutions at i an 2‘0 +5=x°
8. It has two solutions at _ ~> > " 7(?’9)5*’5 =0
[ “1! 1’ 3} ahd 9 —
_Z. Tt has four solutions at : -5 + 1)=0
: . ~1.5, <1 0,and 3. _
B It has four solutions at X " ‘M
| AL e
| %14 49

§
£
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15. Livestock watering troughs are often custom-made from long metal sheets by bending two
sides upward and adding left and right ends. The trough shown below is made from a 12-foot . -
wide strip of metal with the cross-sectional areaA(x)} =x(12 - 2Zx)gquare inches. )

For what value of x will the trough have maximum cross-sectional area?

1 ' 1
A 12 B.3 : @ D. 12

p= -8 T'&.-’)s’ 3;14 -1
16. Complete the square for the function f{x) = x* — 4x + 6. What is the minimum point on a )
graph of this function? S
A. (1,-2) B. (-2, 1) C.(-2,-2) @
YPelyxtt =l AN
& 5
17. What are the solutions to 6x* = 5x — 37 (- a) “-
: mxT ((-2)%+3=0
5+ef87 S+ 147 5% 247 ' 5+ 1497
A B. 12 C./ 12 D. 12
%o p=0 & EJBI-HoI%)_ 5510
o) g
18. Which value of x is a solution to(3x + 5 —dx =359
-13 - 2211 244011 - 2+adl
B. 18 c. ¢ D. [
(A5 Hers) =5
Ay P4 50% 495~ -5 = O ar
AT+ ey + D=0 k)
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